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QUESTION 1

Refer to the exhibit below. The routers have an established IS-IS L2 adjacency on which IPv4 system addresses are
exchanged. An operator successfully configures multi-topology I1S-IS routing so that the IPv6 system addresses are also
exchanged between routers. Which of the following statements best describes the number of IS-IS adjacencies and the
number of LSPs in the LSDB of R1 AFTER IPv6 has been configured?

10.10.10.1/32 10.10.10.2/32
FDOO:11:11::1/128 FD00:11:11::2/128

Area 49.0001
L2

Area 49.0002
L2

A. R1 has one IS-IS adjacency and one LSP.
B. R1 has one IS-IS adjacency and two LSPs.
C. R1 has one I1S-IS adjacency and four LSPs.
D. R1 has two IS-IS-adjacencies and two LSPs
E. R1 has two IS-IS adjacencies and four LSPs

Correct Answer: B

QUESTION 2

A service needs to accept frames that have the following: an outer VLAN tag of 200 with an inner VLAN tag of 33; and
frames that have an outer VLAN tag of 250 with an inner VLAN tag of 33. What SAP(s) need to be configured?

A. 1/1/1:200.*

B. 1/1/1:*.33

C. l/1/1:**

D. This requires two SAPs: 1/1/1:200.33 and 1/1/1:250.33

Correct Answer: D
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QUESTION 3

Click on the exhibit.

*A:SRC R2+ show router rsvp session

From To Tunnel LSP Name State
ID ID

10.10.10.3 10.2.4.4 61440 2 bypass-1inkl0.3.4.4 Up

10.10.10.1 10.2.4.4 61440 2 bypass-nodel0,10.10.3 Up

Sessions : 2

Which of the following about the bypass tunnel is FALSE?

A. The router 10.10.10.1 is a PLR providing node protection for the router 10.10.10.3.

B. One-to-one fast reroute protection is requested by an LSP.

C. The bypass-link tunnel is used to avoid the link with the egress interface address 10.3.4.4.
D. The bypass-node tunnel is used to avoid the next-hop downstream router 10.10.10.3.

Correct Answer: B

QUESTION 4

Which of the following regarding 1S-IS DIS is FALSE?

A. L1 and L2 routers elect separate DIS\\'s.

B. DIS uses a specific Ethernet multicast address to communicate with other routers on the broadcast network.

C. If a new router starts up in a LAN and has a higher interface priority, the new router preempts the original DIS and
becomes the DIS.

D. In broadcast multi-access networks, such as Ethernet, one router is elected as the DIS and a second router as the
backup DIS.

Correct Answer: D

QUESTION 5

Click the exhibit.
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Plrconfigrservicef info

customer 1 create
description "Default customer™
L et
customer 100 creace
descripeion "Cuse i00%
exit
sdp 2 mpl=a creace
far-end 10.10.10.2
ldp
keep-alive
shutdawrn
exit
no shutdoun
Bxit
epipe 12 customsr 100 create
sap 1/1/1:30 creatce
exit
apoke-=dp 2:44 create
no Shutdowh
exit
no shutdown
exit

Which of the following statements about the E-pipe service is TRUE?
A. The service is a local service.

B. The service requires a second spoke SDP on this router.

C. The service\\'s VC ID is 44.

D. The service will accept VLAN tag 100.

Correct Answer: C
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